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(57-59) 0,1 ¢ tpupmpjunip hujwuwpulnns owGlyul ququpGhpnmy quGymy k6 3-107 Uy
YtunwyhG (hgptp: Ummnbh optipmd hwitiwmwlwlnipjumbi gqnpowyhgl pGnniGty’
k=9-10° L-0¥/4y’, huy V3 = 1, 7:

57 | Nppw”G t tpynt thgpbtph thnfuwgnbtgnipju nidp:

Muwwnwuluwlp puqiuwyunlty 10°-ny:

58 | Nppw”G t tipym 1hgptinh Ynnuhg tppnpn thgph Yypw wgnnn mdn:

Muuwufuwlp puqiuwwwmnlby 104—nq:

59 | Nppw°G whtwp L {hGh bGowlyjul YtGupnGmd wmbnuynpguwo hgph dhonipjniGp

(Wnnnup), npytugh hwdwuwnpgp qubGyh hwywuwpwlpnnipjul Jhdwynid:
MNumwufuwp puqiwuunyby 10%-ny:
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(60-62) 2 Yq qubqyuony qlnhyp Juiudwd t 2,5 ¢ tpyuwpmpjwdp sdqunn pupwy phihg:

60

61

62

Q-Gnhljp  hwjuwuwpwlpompjwG nhpphg 2ymd GG L pwg pnnlmd:  Onh
nhiwnpnipyn GG wnbuby: Uquin whlpiw6 wpwqugnuip 10 §4° E:

Minnudhghg  h°G; wllymGny GG Ztnt qlnhyp hwjwuwpwlyypmpjwl nhpphg, btpb
htimwqu wnpdiwi pGpwgpnyd phith wnwybpugni G jupiwl nidp Gpynt wiqud ko E dwpiGh
owlpmpjwul ndhg:

Nppw”aG t qGnhyh YhGhwmpy LGapghwG hwjwuwpwlpnnipjuwb nhppny wlgGhihu:

h*Gs wpwqnipjuwp t qGnhYyG wigGmd hwjwuwpwlnnipjw nhppny:
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(63-66) | =4 ud tpyupmpyjuip AB dnnp hwywpnn pupuly

63

64

65

66

nuwGyulyh qiluwdnp owwmhlwlwG wnwlgph htwn B
Yuqinud £ ¢ =60° walymG (G4, 1): Qonh A dwjpw- 4, \

Jtwp qubymd b qfuuwnp oyymhyuwljwlG wnwlgph F

Ypw' nuwljuyhg 2F htowynpmpjudp Yhnmd, np-

wmtn F=10 ud' nuwGyuyh YhquybtwmwjhG hb- L. 1
nuwynpnipyniGa t:

NuuwGjuyhg h°Gs htinwynpnipjw Jpw junwgyh A Yhnh wuwumlbpp:
NMuwunwupwip puquuyunll) 10-ny:

NuwGjuyhg p°Gs htnwynpnipjuG Yypw Junwgyh B Yhmph yuwmbpn:
NMuunwupiup pauquuuunlby 103-ny:

Q-[fuwynp oywmphuwlwl wnwlgph Guundwdp, wunhdwiibpny wpmnmwhwjmywd h°Gs
o unip wiljwl nmwl whwp E mbinunnt) typwp, npuybugh Gpuw ypw vnwgyh AB énnh
wipnnowlwl humwy yuwumytpn:

Nppw”G & AB dnnh wwwnytph GpyupnipyniGp:
NMuunuwupiwip puquuuyunlb) 102-ny:
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(67-70) Qtptwikynuwgywd winpmd Yw 10 °C ghptwumhsw6h 0,93 Yq qubgyuony gnip:
it 12 it n

67

68

69

70

Lpw k9 wykjumglGmy G —20 0C-11 0,6 4o quiquonmy uwnnjg: Uwngh hwipdwb
gtiptwumnhwip 0 °C t, whuwlwpwp 9bpmGuwympymGp' 2100 /4q.4, hwiwl

wmtuwwpup otpimpymGnp’ 330 yR/4yq, huly 9ph wmtuwlfwpwn gtpiniGuympiniGp’
4200 2/yq.u:

Nppw”G 9tiptwpwGwy t Ynpghnud gnipp vhask 0 °Cc hnjwGwyp:
Muuwufuwlp puqiuyuwunltip 10_1-nq:

Nppw”G otipdwpw Gy t wGhpwdtyn wdpnne uwnnijgn hwitijnt hwdwn:
Muuwufuwlp puqiuyuunytip 10_2—n11:

Nppw”G £ wlnpnid hwunmwwnywd otipdwunhdwln (puwn Stuhniuh vwGnnuiyh):

Nppw®G E wGnpmd 9ph quGqyuon 9tiptiwjhl hwjwuwpwlynnipniGhg htinn:
MNuumwufuwlp puqiwuwnltp 10°-ny:
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